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N.B. :— () All questions are compulsory.

(it) All questions carry equal marks.

(iii) Wrong answers will carry negative marks (only for MCQs).
() HE YA STETEH e

(i) W& GEAA FAH O 3R

(iv)  FeRTeAl IACH RUTHE T[0T 3ARd. (had dguaiell e ).

MCQ
1. Multiple Choice Questions (i) —(x) : 10
SR T (i) —(x) :
@) According to which Greek word the word ‘state’ emerge ?
(A)  Politics (B) Status
(C)  Thea (D)  Polis
FHITET ek WRER ‘TF' A1 T Foadl el e ?
(A)  Tifeafes (B) W
(C)  faem (D) drir™

P.T.O.
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Before 15th August 1947 without which element India was not a

state ?

(A)  Population (B)  Sovereignty

(C)  Territory (D)  Government

15 SR 1947 Tl RV Heh AR YR § o9 dead 7
(A)  <reREE (B)  wEYmE

(©)  wew (D) ¥

According to the following, which book is written by Thomas

Hobbes ?

(A) Leviathan (B)  Das Capital

(C) The Republic (D) Human Nature of Politics
ETeAeTdeh! o U9 oS e fafeen sme ?

(A)  wferFed (B) =™ fred

(C) T Tuscirn (D) FET =R 3 uiferfesrs

In India, the form of Government is ..............
(A)  Presidential and Unitary

(B)  Parliamentary and Federal

(C)  Unitary and Federal

(D) - None of the above

(A)  FeAeE o TR
(B) G oMftr Heli
(C)  THhrH o FElA
(D) St ATE
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According to divine theory of state, the state was emerged by

(A) Contract (B)  Force

(C) Patriarchal (D) God

TSI 3T qal THGIAER e e = S e
(A) =W (B) vl

(©) fuges (D) TR ferar <=

.............. is not a function of Judiciary system.
(A)  Judicial review

(B) To form the Government

(C) To protect the Constitution

(D) To do Justice

T SGET oo Fr
(A) = At (B) A= fAfHd
(C)  HfagmrE & (D)  EEH Hq
Who declared the decline of political theory ?

(A)  Robert Dhal (B) Karl Marx

(C)  Plato (D) J.S. Mill

ISRt fagraren ggr=t = wivl el ?

(A) U @ (B) Il A

C) == (D) w.ug. foa
............ is needed for responsible and stable government.
(A)  Violence (B) War

(C)  Rule of law (D) None of these
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STEET F TURT ™S = SAEYIRAl 3R
(A) fem B) Is§
(C) wEE™ AT (D) TR TR

In the book ‘Two Treaties on Government’ who explained theory of social

contract of state emerge ?

(A) John Locke (B)  Fuco

(C) Ban ki Mun (D) Thomas Hobbes

‘g fofes o1 TTegHe’ A Yo o= IS WA HiRran fgd hioft

Areat ?

(A) ST dfn (B)

(C) =M F F D)  ofFg Fes

According to the following, which nation is the father of modern federal

system ?

(A)  U.S.A. (America)

(B)  U.K. (England)

(C) U.AE. (United Arab Emirates)

(D)  U.S.S.R. (Soviet Russia)

TICATAUR! IO T SMYFH TR HIEI ST 3T

(A)  FUET (TR (B) Fh ()

(C) JUZ (FIK WA AMRE) (D) FTH.THAR. (Hifqwe Wm@m)
Theory

Define Political Theory and explain importance of Political Theory. 10

Terehia TIgaET A 9iF IS Hgiae 7gd fovR .

Or
(feram)

Evaluate on Rousseau’s social contract theory.

TUUOT G I FagIder. 9mT .
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3. Write characteristics of the ‘Federal Government’. 10
HefcHe A Tgarel dfirey forel.
Or
(fenam)
Explain Austin’s theory of Sovereignty.
HfeTafia FedHEEl faga v 3.
4. Write short notes on (any fwo) : 10

@) Force theory
@) Executive
(@1z) Thomas Hobbes’s social contract

@iv) Pluralistic.

drea feqr forer (SIoE @9)
@) vt fagia
(i) HERN HSws

(i) 99 BIeSIUIUTd GrHTSTeh  hill

(iv) 3T HER.
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